WPy I DER

K & |5—L4L#| 7R |F=3IEY K & [F—L#| 7R |[F—=2)EY
18 EX 342] 223.90 76,575 13X EH 281] 188.96 53,099
2|I5FE FF 87| 208.66 18,154 14|48 B 110] 188.40 20,724
REEIRE S 218] 206.10 44,931 15[E &X 139] 184.58 25,658
4|HE Eth 226] 205.06 46,345 16[48F8 ET 367] 184.49 67,710
5|%% B 202] 196.33 39,660 17[BiR L 192] 182.63 35,065
6|k & 251| 195.94 49,182 18[/thim 58 117] 181.10 21,189
115E BE 146] 194.91 28,458 19[= g 212] 179.78 38,114
8|Bik &= 204] 192.36 39,243 EEEES. 329] 178.41 58,700
MESE 185] 190.98 35,333 21|k X 130] 172.29 22,398
NEEEES 407] 190.42 77,504 22|15 328] 172.16 56,469
118 = 140[ 190.40 26,656 23| FLlL WF 138| 168.59 23,266
122[=EHITH 225] 189.05 42538

K BFDELU00GLLE)

K & |5—L4L#| 7R |F=3IEY K & |[F—L4L#| 7N |[F—=2ILEY
1[0k =t 236] 217.10 51,236 36| FFR B 128| 183.08 23,435
2R 420 213.24 89,564 1B [EE 363[ 182.05 66,087
IXHF BT 153| 208.40 31,886 BT = 100| 181.87 18,187
NEESEES 163] 205.20 33,449 39|%ih E=&H 272] 181.02 49,240
5|f K =i 480] 205.13 98,465 40| KT IUSE IS 151] 180.09 27,194
6|RIEA FE 292| 203.65 59,466 M|F) B 175] 179.60 31,431
8k X&E 595| 202.60 120,547 281 #oE 259| 178.88 46,330
MEESS 530] 201.67 106,889 43|45 57 HEH 108| 178.77 19,308
M 391 201.11 78,635 4480 FX 184] 177.46 32,653
10[R4E = 308| 201.10 61,941 45(1LIH HAER 412] 176.84 72,861
11{#ER E& 210[ 199.16 41,824 46[=iE B 124] 176.69 21,910
12(l)1] 5% 215] 198.86 42,755 47| & 156| 176.66 27,560
13[AMEEE 235] 198.34 46,611 48|BF Rk 202] 176.41 35,635
HEEE S 255| 198.03 50,498 9Bk — 124| 176.40 21,874
15[HA =& 137] 195.34 26,762 50| 1§ 107] 176.25 18,859
160 &E 132| 194.84 25,719 510l B 158] 175.27 27,693
17[XK¥ EHif 499] 194.11 96,864 52|/iR BBk 105| 175.16 18,392
18[¥.F E[& 132]| 193.66 25,564 53|giidt EF 144] 174.16 25,080
19[Fi K B¥ 235| 192.97 45,350 54|58 M= 568| 172.74 98,119
ES I 616] 191.18 117,769 55 ER B 220 172.61 37,975
2|HIUE 5L 155| 190.65 29,551 56|mA AGE 160| 171.92 27,508
22|/MBR B 240] 190.31 45,676 57|#¢;R [BEE 312| 170.26 53,123
PRIONITIES 236/ 190.07 44 858 58|53k =8I 380 166.04 63,097
24|1EL B2 514] 190.06 97,695 59| FTiR #H= 104] 165.32 17,194
25 *ﬁ,i = 249| 189.65 47,225 60[;BH BE 128] 163.07 20,873
26|51l BA 329] 188.02 61,860 613=E IE# 120| 163.05 19,567
27 IJ.IEEI B 160] 187.37 29,980 62 BR EfE 156| 161.54 25,201
28[;BK —%& 156| 186.67 29,122 63[lL1 KB 140] 161.33 22,587
20|f &R FBK 233| 186.54 43,464 64[#AH sh2Z 268] 160.27 42 954
0|EZE Hth 163| 186.39 30,383 65| A TRfE 148| 157.86 23,364
31|EE ImA 255| 186.38 47527 66|fhEH FA 276] 157.39 43 441
32|5H [HX 228| 185.41 42274 67|#FHF IEFH 144] 150.47 21,669
337 {BIE 231] 184.93 42720 68|MRI MRS 121] 139.98 16,938
34| LEr K 203| 184.67 37,490 69|HH #Z 148] 113.69 16,827
3/l EA 145] 183.17 26,560

Y BFDER(30GLLE . 100GK i)

K £ |F—4L%] 7R [F—=2IEY K % [F—4%8 7R |F—=32IEY
1E #8x 76| 214.00 16,264 5|21 #ER 86| 189.56 16,303
2(%1 £ JﬁF‘ 52| 196.69 10,228 6|58 HA 60| 188.61 11,317
JIFE F= 55| 193.45 10,640 NE - = 86| 186.98 16,081
4|=8 BH 54| 192.33 10,386 REZE 32| 183.62 5,876




K & |5—L4L#| 7R |F=3IEY K & [F—L4L#| 7R |[F—=2IEY
9=H 5hik 44| 182.50 8,030 18|80 N 36| 171.86 6,187
10[1R#5  fa1 98] 182.10 17,846 19[/k £ {dh— 96| 171.79 16,492
nmnE % 76] 181.09 13,763 20|58 EX 78| 170.65 13,311
12|15 1F3E 68] 179.73 12,222 214k =/ R3CHE 76| 170.25 12,939
13[7EE B& 40| 176.00 7,040 26|45 S 39| 158.33 6,175
14[{EBk & 48| 175.18 8,409 27|52 99| 157.77 15,620
15|&AK Rif 96| 174.91 16,792 28| H h— 48| 156.39 7,507
16[F%  #H— 60| 173.85 10,431 29|28 BRE 59| 154.91 9,140
17(f K&§ 75| 172.26 12,920 0|Ha =k 54| 152.68 8,245
22|14 IEE 72| 168.79 12,153 NBE % 68| 152.42 10,365
23|/EE IEE 65| 164.60 10,699 20Ee —8 90| 149.07 13,417
24| 78RR BE 48] 160.97 7,727 33| HE— 81| 131.66 10,665
25|28 IEF 60| 159.31 9,559

K ZFDHR(100GLLE)

K & |5—L4L%| 7R |F=3IEY K & |[F—L4L%¥| 7N |[F—=2ILEY
1fEESEH 130| 184.25 23,953 16[f8[RELF 136] 159.02 21,627
218H BFF 295[ 180.37 53,211 172 AEF 280[ 158.74 44,449
MIAE #BF 192] 176.51 33,890 18|RiF BF 132] 158.72 20,952
4| £ —=% 179| 176.44 31,584 Y ETE=EF 280] 158.72 44 443
REEEESES 460| 174.85 80,435 NN SES 153| 158.20 24,205
6;5)Il BEF 549 172.17 94,526 21|g1H XEE 186 153.64 28,578
158 =T 152 172.06 26,154 22| NEFERKF 120] 152.55 18,306
8|EEH HF 283| 168.60 47,716 23T =5 100] 150.90 15,090
9| KEF Rid 101| 166.15 16,782 24|iFK EF 152] 149.34 22,701
10[A1E ZX 143| 166.02 23,741 25| S Ui F 212| 148.60 31,505
11{/hF EFEHRK 418] 165.04 68,989 26[3E AAF 124| 147.88 18,338
12| T EHEF 125| 164.98 20,623 27| ER/MEF 284] 144.75 41,110
138 £E 412] 162.11 66,793 28|11 fBF 224| 14435 32,335
14{85 K $i+F 140] 161.20 22,568 29|58 EF 252| 133.01 33,520
15| B &8+ 216| 160.86 34,746 0|II/E #BF 212| 130.88 27,748

K EZFDER(30GLLE . 100GK i)

K £ |[F—4L%] 7R [F=FIEV K £ [F—4L% 7R |F=32IEY
1[%=HE Rit 56| 169.73 9,505 T WGES 48| 157.79 7,574
AR 49| 160.65 7,872 IS 97| 145.96 14,159
/MR A 78] 159.84 12,468




